Contract 23-20 - Storm Sew	ver Laterals / Vario	ous Locations (#8446341)						
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	y of							
Bid Opening: 05/01/2023 1	1:00 AM CDT							
					Wood Sewer &	•	Carl Bowers & So	ns Const Co. Inc.
					E9238 Coun	•		
0 1 7711	* 6.1	7. 7. 1.1	** **	0 11	New London	•	** ** **	.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1		CI : I :				\$830,256.73		\$967,410.30
	1010	Clearing; complete as	C:	1.05	#1 (00.00	#2.040.00	#1 000 00	#1 050 00
	1010	specified Grubbing; complete as	Stations	1.85	\$1,600.00	\$2,960.00	\$1,000.00	\$1,850.00
	1020	specified	Stations	1.85	\$1,600.00	\$2,960.00	\$1,000.00	\$1,850.00
	1020	Removing pavement;	Stations	1.65	\$1,000.00	\$2,960.00	\$1,000.00	\$1,000.00
	1100	complete as specified	Square Yards	813.00	\$7.00	\$5,691.00	\$10.00	\$8,130.00
	1100	Removing concrete and	Square rarus	813.00	\$7.00	φ5,071.00	φ10.00	\$0,130.00
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	2,110.00	\$1.40	\$2,954.00	\$1.00	\$2,110.00
		Dredge material; load;				. ,	·	
		transport; and dispose of						
		dewatered sediment;						
	1226	complete as specified	Cubic Yards	25.00	\$77.50	\$1,937.50	\$100.00	\$2,500.00
		7" concrete pavement						
		removal and replacement;						
		including sawing;						
		pavement ties; dowel						
		bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1308	complete as specified	Square Yards	1,597.00	\$101.00	\$161,297.00	\$131.00	\$209,207.00
		8" concrete pavement						
		removal and replacement;						
		including sawing;						
		pavement ties; dowel						
		bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
	1010	and traffic control;	C	22.00	#40E 00	do F04 00	#107.00	#4 400 00
	1318	complete as specified	Square Yards	33.00	\$107.00	\$3,531.00	\$136.00	\$4,488.00

Contract 23-20 - Storm Sew	er Laterals / Vario	ous Locations (#8446341)						
Owner: Oshkosh WI, City o		,						
Solicitor: Oshkosh WI, City								
John Collings 111, City	1							
Bid Opening: 05/01/2023 11	1:00 AM CDT							
bia Opening. 05/01/2025 11	I.00 MW CD I							
					Wood Sewer	& Everystine	Carl Bowers & So	no Const Co. Inc
						· ·	Call bowels & 50	iis Colist Co. Ilic.
					E9238 Cou	•		
O d mid	71 6 1	* 5 · · ·	*** ***	0 11	New Londo		** ** **	.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		8" concrete pavement						
		HES removal and						
		replacement; including						
		sawing; pavement ties;						
		dowel bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1319	complete as specified	Square Yards	119.00	\$112.00	\$13,328.00	\$145.00	\$17,255.00
		Adjust manholes and						
		inlets; complete as						
	1360	specified	Each	4.00	\$1,411.00	\$5,644.00	\$800.00	\$3,200.00
		Turf restoration;						
	1370	complete as specified	Square Yards	649.90	\$9.50	\$6,174.05	\$12.00	\$7,798.80
		4" concrete sidewalk with						
		3" CABC and grading;						
	1500	complete as specified	Square Feet	1,525.00	\$9.00	\$13,725.00	\$12.00	\$18,300.00
		6" concrete sidewalk/						
		driveway/ramp with 3"						
		CABC and grading;						
	1510	complete as specified	Square Feet	460.00	\$10.00	\$4,600.00	\$13.00	\$5,980.00
		No. 4 reinforcing rods -						
		deformed; epoxy-coated;						
	1550	complete as specified	Linear Feet	895.00	\$2.40	\$2,148.00	\$4.00	\$3,580.00
		Drilled No. 4 sidewalk tie						
		bars - deformed; epoxy-						
		coated; complete as						
	1560	specified	Each	124.00	\$9.70	\$1,202.80	\$11.00	\$1,364.00
		Sawing existing						
		pavement; complete as						
	1700	specified	Linear Feet	885.00	\$2.80	\$2,478.00	\$5.00	\$4,425.00
		Tack coat; complete as						
	1900	specified	Gallons	57.00	\$7.90	\$450.30	\$8.00	\$456.00
		4" asphaltic pavement LT						
		with 10" CABC and						
		grading; complete as						
	1906	specified	Square Yards	858.00	\$61.00	\$52,338.00	\$57.00	\$48,906.00
		Furnish and install 8"						
		storm sewer; complete as						
	2001	specified	Linear Feet	40.00	\$77.00	\$3,080.00	\$140.00	\$5,600.00

Contract 23-20 - Storm Sew	er Laterals / Vario	ous Locations (#8446341)						
Owner: Oshkosh WI, City		, ,		1				
Solicitor: Oshkosh WI, City								
	1							
Bid Opening: 05/01/2023 11	1:00 AM CDT							
Dia opening. co/or/2020 13								
				+	Wood Sewer	& Excavating	Carl Bowers & Son	ne Conet Co. Inc
					E9238 Cour	Ü	Call bowels & 30	iis Colist Co. Hic.
						,		
C vi Trivi	Tr. C. 1	T. D. '.'	TI 01	0 111	New London	·	TI '(D '	F
Section Title	Item Code	Item Description Furnish and install 12"	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		storm sewer; complete as			*** =*	*****		
	2003	specified	Linear Feet	825.00	\$80.50	\$66,412.50	\$137.00	\$113,025.00
		Furnish and install 12"						
		RCP Class III storm						
		sewer; complete as						
	2004	specified	Linear Feet	210.00	\$89.50	\$18,795.00	\$138.00	\$28,980.00
		Furnish and install 15"						
		storm sewer; complete as						
	2006	specified	Linear Feet	577.00	\$87.00	\$50,199.00	\$143.00	\$82,511.00
		Furnish and install 15"						
		RCP Class III storm						
		sewer; complete as						
	2007	specified	Linear Feet	121.00	\$91.50	\$11,071.50	\$143.00	\$17,303.00
		Furnish and install 18"						
		storm sewer; complete as						
	2009	specified	Linear Feet	190.00	\$515.00	\$97,850.00	\$146.00	\$27,740.00
		Furnish and install 24"						
		RCP Class III storm						
		sewer; complete as						
	2016	specified	Linear Feet	63.00	\$342.00	\$21,546.00	\$170.00	\$10,710.00
		Furnish and install 12"						
		RCP Class III apron						
		endwall with joint ties;						
	2140	complete as specified	Each	1.00	\$2,872.00	\$2,872.00	\$3,300.00	\$3,300.00
		Furnish and install 18"						
		RCP Class III apron						
		endwall with joint ties;						
	2142	complete as specified	Each	1.00	\$2,598.00	\$2,598.00	\$3,500.00	\$3,500.00
		Furnish and install						
		standard storm sewer						
		manhole (4' diameter);						
	2201	complete as specified	Vertical Feet	46.07	\$974.00	\$44,872.18	\$850.00	\$39,159.50
		Furnish and install						
		standard storm sewer						
		manhole (6' diameter);						
	2203	complete as specified	Vertical Feet	4.29	\$1,720.00	\$7,378.80	\$1,500.00	\$6,435.00
		Furnish and install Type 3						
		inlet (with 18" sump);						
	2237	complete as specified	Each	4.00	\$3,692.00	\$14,768.00	\$3,500.00	\$14,000.00

Contract 23-20 - Storm Sew	er Laterals / Vario	ous Locations (#8446341)						
Owner: Oshkosh WI, City		10 20 catrons (#0110011)						
Solicitor: Oshkosh WI, City								
John Collings 111, City	1							
Bid Opening: 05/01/2023 11	1:00 AM CDT							
bia Opening. 05/01/2025 11	I.00 MW CD I							
					Wood Sewer	& Everystine	Carl Bowers & So	no Const Co. Inc
					E9238 Cour	•	Call bowers & 50	iis Colist Co. Ilic.
					New Londo	,		
C C TT'd	Tr. C. 1	T. D:	77.07.6	0 111			TI '(D '	г
Section Title	Item Code	Item Description Furnish and install 6"	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		storm sewer lateral;						
	2400		T. F.	1.261.00	#100.00	#107 100 00	ф1 25 00	#1F0 22F 00
	2400	complete as specified Furnish and install storm	Linear Feet	1,261.00	\$100.00	\$126,100.00	\$135.00	\$170,235.00
		sewer marker balls;						
	2404	· ·	Е 1	00.00	#40.00	#2 200 00	#40.00	#2 200 00
	2404	complete as specified Furnish and install storm	Each	80.00	\$40.00	\$3,200.00	\$40.00	\$3,200.00
	2406	sewer clay dams;	T. J.	41.00	¢110.00	¢4 F10 00	¢100.00	¢4.100.00
	2406	complete as specified Furnish and install storm	Each	41.00	\$110.00	\$4,510.00	\$100.00	\$4,100.00
		sewer lateral inlet;						
	2400	,	T. J.	15.00	#1 1 2 0 00	#16 02F 00	£1 100 00	#16 F00 00
	2408	complete as specified Furnish; install; maintain;	Each	15.00	\$1,129.00	\$16,935.00	\$1,100.00	\$16,500.00
		and remove Type D						
		modified inlet protection;						
	2508	complete as specified	Each	65.00	\$85.00	\$5,525.00	\$100.00	\$6,500.00
	2300	Furnish; install; maintain;	Each	05.00	\$65.00	φυ,υ20.00	ψ100.00	φ0,300.00
		and remove stone bag;						
	2516	complete as specified	Each	49.00	\$12.00	\$588.00	\$10.00	\$490.00
	2010	Furnish; install; maintain;	Euch	15.00	φ12.00	φοσο.σσ	φ10.00	ψ190.00
		and remove 12" diameter						
		sediment logs; complete						
	2518	as specified	Linear Feet	65.00	\$18.00	\$1,170.00	\$10.00	\$650.00
	2010	Furnish; install; maintain;	Zinear rect	00.00	\$10.00	Ψ1/17 0.000	\$10.00	φοσοιος
		and remove dewatering						
		tank system; complete as						
	2524	specified	Each	2.00	\$1,822.00	\$3,644.00	\$2,500.00	\$5,000.00
		Furnish; install; maintain;			4-/	40/0 2 2100	4-/******	40,00000
		and remove turbidity						
		barrier; complete as						
	2526	specified	Each	3.00	\$4,980.00	\$14,940.00	\$8,000.00	\$24,000.00
		Furnish and install Class				. ,	. ,	· ,
		I; Urban; Type A erosion						
		control mat; complete as						
	2632	specified	Square Yards	308.00	\$6.10	\$1,878.80	\$4.00	\$1,232.00
		Furnish and install heavy	•			·		· · · · · · · · · · · · · · · · · · ·
		rip-rap with filter fabric;						
	2650	complete as specified	Square Yards	35.00	\$99.00	\$3,465.00	\$350.00	\$12,250.00
		Abandon 8" - 12" storm	<u> </u>					<u> </u>
		sewer; complete as						
	2800	specified	Linear Feet	159.00	\$5.70	\$906.30	\$30.00	\$4,770.00

Contract 23-20 - Storm Sew	ver Laterals / Vario	ous Locations (#8446341)						
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit								
·	<u> </u>							
Bid Opening: 05/01/2023 1	1:00 AM CDT							
					Wood Sewer	& Excavating	Carl Bowers & So	ons Const Co. Inc.
					E9238 Cou	nty Road X		
					New Londo	n, WI 54961		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Remove 30" and smaller						
		storm sewer; complete as						
	2804	specified	Linear Feet	36.00	\$32.50	\$1,170.00	\$45.00	\$1,620.00
		Abandon storm sewer						
		manholes and inlets;						
	2810	complete as specified	Each	2.00	\$911.00	\$1,822.00	\$600.00	\$1,200.00
		Connect to existing storm						
		sewer main; complete as						
	2850	specified	Each	27.00	\$486.00	\$13,122.00	\$500.00	\$13,500.00
		Connect to existing storm						
		sewer lateral; complete as						
	2852	specified	Each	2.00	\$425.00	\$850.00	\$400.00	\$800.00
		Connect to existing storm						
		sewer manhole; complete						
	2856	as specified	Each	4.00	\$618.00	\$2,472.00	\$800.00	\$3,200.00
		Connect to existing storm						
		sewer inlet; complete as						
	2858	specified	Each	5.00	\$414.00	\$2,070.00	\$800.00	\$4,000.00
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal;						
	3114	complete as specified	Each	1.00	\$1,027.00	\$1,027.00	\$500.00	\$500.00
Bid Total:						\$830,256.73		\$967,410.30

Contract 23-20 - Storm Sewer	Laterals / Vario	ous Locations (#8446341)				
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City of	f					
Bid Opening: 05/01/2023 11:00	AM CDT					
1						
					Vinton Constru	iction Company
						1 /
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Section 1		_				\$1,012,651.20
		Clearing; complete as				
	1010	specified	Stations	1.85	\$500.00	\$925.00
		Grubbing; complete as				
	1020	specified	Stations	1.85	\$500.00	\$925.00
		Removing pavement;				
	1100	complete as specified	Square Yards	813.00	\$10.00	\$8,130.00
		Removing concrete and				
		asphalt sidewalk and				
		driveway; complete as				
	1120	specified	Square Feet	2,110.00	\$1.00	\$2,110.00
		Dredge material; load;				
		transport; and dispose of				
		dewatered sediment;				
	1226	complete as specified	Cubic Yards	25.00	\$105.00	\$2,625.00
		7" concrete pavement				
		removal and replacement;				
		including sawing;				
		pavement ties; dowel				
		bars; bond breaker;				
		integral curb and fine				
		grading; turf restoration;				
		and traffic control;				
	1308	complete as specified	Square Yards	1,597.00	\$132.00	\$210,804.00
		8" concrete pavement				
		removal and replacement;				
		including sawing;				
		pavement ties; dowel				
		bars; bond breaker;				
		integral curb and fine				
		grading; turf restoration;				
		and traffic control;	_			
	1318	complete as specified	Square Yards	33.00	\$137.00	\$4,521.00

Contract 23-20 - Storm Sewe	r Laterals / Vario	ous Locations (#8446341)				
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City						
Sometion Someon 112, City						
Bid Opening: 05/01/2023 11:	00 AM CDT					
Did Opening. 05/01/2020 11.	0071111 CD1					
					Vinton Constru	ction Company
					VIIIIOII CONSIIU	etion company
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Section Title	item code	8" concrete pavement	COLVI	Qualitity	Cilit i licc	Extension
		HES removal and				
		replacement; including				
		sawing; pavement ties;				
		dowel bars; bond breaker;				
		integral curb and fine				
		o .				
		grading; turf restoration;				
	1210	and traffic control;	C V 1	110.00	#10F 00	#1 < 202 00
	1319	complete as specified	Square Yards	119.00	\$137.00	\$16,303.00
		Adjust manholes and				
	1260	inlets; complete as	г. 1	4.00	ф.400.00	#1 (00 00
	1360	specified Turf restoration;	Each	4.00	\$400.00	\$1,600.00
	1270	· ·	C 1 -	640.00	#2F 00	¢1 (247 F0
	1370	complete as specified 4" concrete sidewalk with	Square Yards	649.90	\$25.00	\$16,247.50
	1500	3" CABC and grading;	C F	1 525 00	#12.20	#20.282.50
	1500	complete as specified 6" concrete sidewalk/	Square Feet	1,525.00	\$13.30	\$20,282.50
		driveway/ramp with 3"				
	1510	CABC and grading;	C F	460.00	¢12.50	ф. 21 0.00
	1510	complete as specified No. 4 reinforcing rods -	Square Feet	460.00	\$13.50	\$6,210.00
		- C				
	1550	deformed; epoxy-coated;	Linear Feet	005.00	#2.00	¢1 700 00
	1550	complete as specified Drilled No. 4 sidewalk tie	Linear reet	895.00	\$2.00	\$1,790.00
		bars - deformed; epoxy-				
		coated; complete as				
	1560	specified	Each	124.00	\$6.00	\$744.00
	1300	Sawing existing	EdCII	124.00	\$0.00	\$744.00
		pavement; complete as				
	1700	specified	Linear Feet	885.00	\$3.50	\$3,097.50
	1700	Tack coat; complete as	Effical Teet	003.00	ψ3.50	ψ5,071.50
	1900	specified	Gallons	57.00	\$3.94	\$224.58
	1700	4" asphaltic pavement LT	Ganons	37.00	ψ0.71	Ψ224.50
		with 10" CABC and				
		grading; complete as				
	1906	specified	Square Yards	858.00	\$49.39	\$42,376.62
	1700	Furnish and install 8"	Square rarus	030.00	ψτ.υ)	ψ±2,57 0.02
		storm sewer; complete as				
	2001	specified	Linear Feet	40.00	\$188.00	\$7,520.00
	2001	оресшей	Ziricui i cet	10.00	\$100.00	φ,,320.00

Contract 23-20 - Storm Sewer	Laterals / Vario	ous Locations (#8446341)				
Owner: Oshkosh WI, City of	Laterary varie	("0110011)				
Solicitor: Oshkosh WI, City of	f					
Solicitor: Oshkosh Wi, City o.	1					
Bid Opening: 05/01/2023 11:00	AMCDT					
Bit Opening: 05/01/2025 11:00	I					
					Vinton Constructi	lan Cammann
					Vinton Constructi	ion Company
Section Title	Item Code	Itan Danielia	UofM	0	Unit Price	Extension
Section Title	item Code	Item Description Furnish and install 12"	UOIM	Quantity	Unit Frice	Extension
	2002	storm sewer; complete as	T. F.	025.00	#11 6 00	#OF 700 00
	2003	specified Furnish and install 12"	Linear Feet	825.00	\$116.00	\$95,700.00
		RCP Class III storm				
		sewer; complete as			*****	*****
	2004	specified	Linear Feet	210.00	\$134.00	\$28,140.00
		Furnish and install 15"				
		storm sewer; complete as				
	2006	specified	Linear Feet	577.00	\$129.00	\$74,433.00
		Furnish and install 15"				
		RCP Class III storm				
		sewer; complete as				
	2007	specified	Linear Feet	121.00	\$147.00	\$17,787.00
		Furnish and install 18"				
		storm sewer; complete as				
	2009	specified	Linear Feet	190.00	\$237.00	\$45,030.00
		Furnish and install 24"				
		RCP Class III storm				
		sewer; complete as				
	2016	specified	Linear Feet	63.00	\$247.00	\$15,561.00
		Furnish and install 12"				
		RCP Class III apron				
		endwall with joint ties;				
	2140	complete as specified	Each	1.00	\$4,440.00	\$4,440.00
		Furnish and install 18"				
		RCP Class III apron				
		endwall with joint ties;				
	2142	complete as specified	Each	1.00	\$4,285.00	\$4,285.00
		Furnish and install				
		standard storm sewer				
		manhole (4' diameter);				
	2201	complete as specified	Vertical Feet	46.07	\$1,042.00	\$48,004.94
		Furnish and install				
		standard storm sewer				
		manhole (6' diameter);				
	2203	complete as specified	Vertical Feet	4.29	\$1,814.00	\$7,782.06
		Furnish and install Type 3				
		inlet (with 18" sump);				
	2237	complete as specified	Each	4.00	\$3,692.00	\$14,768.00

Contract 23-20 - Storm Sewer	Laterals / Vario	ous Locations (#8446341)				
Owner: Oshkosh WI, City of	I					
Solicitor: Oshkosh WI, City of	<u> </u>					
Solicitor: Oshkosh Wi, City of	1					
Bid Opening: 05/01/2023 11:00	AMCDT					
Bid Opening: 05/01/2023 11:00	AMICDI					
					T	" 6
					Vinton Constru	ction Company
0 1 711	* 0.1	7. 75. 1.1	** **	0 111	** ** **	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Furnish and install 6"				
	2400	storm sewer lateral;	** ** .	1.241.00	44.66.00	# 2 00 22 (00
	2400	complete as specified	Linear Feet	1,261.00	\$166.00	\$209,326.00
		Furnish and install storm				
		sewer marker balls;				
	2404	complete as specified	Each	80.00	\$48.00	\$3,840.00
		Furnish and install storm				
		sewer clay dams;				
	2406	complete as specified	Each	41.00	\$296.00	\$12,136.00
		Furnish and install storm				
		sewer lateral inlet;				
	2408	complete as specified	Each	15.00	\$1,470.00	\$22,050.00
		Furnish; install; maintain;				
		and remove Type D				
		modified inlet protection;				
	2508	complete as specified	Each	65.00	\$130.00	\$8,450.00
		Furnish; install; maintain;				
		and remove stone bag;				
	2516	complete as specified	Each	49.00	\$25.00	\$1,225.00
		Furnish; install; maintain;				
		and remove 12" diameter				
		sediment logs; complete				
	2518	as specified	Linear Feet	65.00	\$11.50	\$747.50
		Furnish; install; maintain;				
		and remove dewatering				
		tank system; complete as				
	2524	specified	Each	2.00	\$500.00	\$1,000.00
		Furnish; install; maintain;				
	1	and remove turbidity				
		barrier; complete as				
	2526	specified	Each	3.00	\$4,500.00	\$13,500.00
		Furnish and install Class				
		I; Urban; Type A erosion				
		control mat; complete as				
	2632	specified	Square Yards	308.00	\$4.50	\$1,386.00
		Furnish and install heavy				
	1	rip-rap with filter fabric;				
	2650	complete as specified	Square Yards	35.00	\$107.00	\$3,745.00
		Abandon 8" - 12" storm				
	1	sewer; complete as				
	2800	specified	Linear Feet	159.00	\$22.00	\$3,498.00

Contract 23-20 - Storm Sewer I	atorale / Vario	ws I asstions (#8446241)				
Owner: Oshkosh WI, City of	Laterais / Vario	ous Locations (#6446541)				
. ,						
Solicitor: Oshkosh WI, City of						
Bid Opening: 05/01/2023 11:00	AM CDT					
					Vinton Constru	ction Company
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Remove 30" and smaller				
		storm sewer; complete as				
	2804	specified	Linear Feet	36.00	\$54.00	\$1,944.00
		Abandon storm sewer				
		manholes and inlets;				
	2810	complete as specified	Each	2.00	\$495.00	\$990.00
		Connect to existing storm				
		sewer main; complete as				
	2850	specified	Each	27.00	\$680.00	\$18,360.00
		Connect to existing storm				
		sewer lateral; complete as				
	2852	specified	Each	2.00	\$340.00	\$680.00
		Connect to existing storm				
		sewer manhole; complete				
	2856	as specified	Each	4.00	\$742.00	\$2,968.00
		Connect to existing storm				
		sewer inlet; complete as				
	2858	specified	Each	5.00	\$742.00	\$3,710.00
		Furnish and install				
		sanitary sewer external				
		manhole chimney seal;				
	3114	complete as specified	Each	1.00	\$729.00	\$729.00
Bid Total:						\$1,012,651.20